
Spiel 1 Spiel 2 Gesamt

Spiel 02 17:29 B 1 JURKOWITSCH Pascal 39 + 48 = 87 # # O

B 2 HAHN Ernst 57 + 48 = 105 # O

Spiel 04 17:47 B 3 SPINDELBERGER Gerhard 46 + 51 = 97 O O

B 4 ACHLEITNER Christian 60 + 69 = 129 # # #

Spiel 06 18:04 B 5 JURKOWITSCH Marcel 48 + 53 = 101 O

B 1 JURKOWITSCH Pascal 38 + 38 = 76 #

Spiel 08 18:24 B 2 HAHN Ernst 57 + 54 = 111 O #

B 3 SPINDELBERGER Gerhard 42 + 56 = 98

Spiel 10 18:43 B 4 ACHLEITNER Christian 51 + 64 = 115 # #

B 5 JURKOWITSCH Marcel 50 + 56 = 106 #

Spiel 12 19:03 B 1 JURKOWITSCH Pascal 58 + 58 = 116 #

B 3 SPINDELBERGER Gerhard 40 + 53 = 93 O

Spiel 14 19:19 B 2 HAHN Ernst 60 + 70 = 130 # O # # #

B 4 ACHLEITNER Christian 63 + 60 = 123 O O O #

Spiel 16 19:40 B 3 SPINDELBERGER Gerhard 51 + 53 = 104

B 5 JURKOWITSCH Marcel 56 + 55 = 111 O # O #

Spiel 18 19:58 B 4 ACHLEITNER Christian 67 + 62 = 129 # # #

B 1 JURKOWITSCH Pascal 37 + 44 = 81 #

Spiel 20 20:14 B 5 JURKOWITSCH Marcel 52 + 61 = 113

B 2 HAHN Ernst 64 + 60 = 124 O #


